

02/04/2025

14.18

$$f(x) = \begin{cases} e^x - e, & x < 1 \\ \frac{\sqrt{\ln x}}{x}, & x \geq 1 \end{cases}$$

$$\alpha) \left. \begin{aligned} \lim_{x \rightarrow 1^-} f(x) &= \lim_{x \rightarrow 1^-} (e^x - e) = e - e = 0 \\ \lim_{x \rightarrow 1^+} f(x) &= f(1) = \frac{\sqrt{\ln 1}}{1} = 0 \end{aligned} \right\} \Rightarrow \dots$$

$$\beta) C_f, x x', x=0, x=e$$

$$x < 1: f(x) = e^x - e < 0 \text{ da } e^x: \uparrow \mathbb{R}$$

$$x > 1: f(x) = \frac{\sqrt{\ln x}}{x} > 0$$

x	$-\infty$	0	1	e	$+\infty$
f(x)	-		0	+	+

$$E(\underline{0}) = \int_0^e |f(x)| dx = - \int_0^1 f(x) dx + \int_1^e f(x) dx =$$

$$= - \int_0^1 (e^x - e) dx + \int_1^e \frac{\sqrt{\ln x}}{x} dx =$$

$$\begin{aligned} &\uparrow \\ u &= \ln x \\ du &= \frac{1}{x} dx \\ u_1 &= \ln 1 = 0 \\ u_2 &= \ln e = 1 \end{aligned}$$

$$= - [e^x - ex]_0^1 + \int_0^1 \sqrt{u} du =$$

$$= -\cancel{e} + \cancel{e} + 1 + \left[\frac{u^{\frac{3}{2}}}{\frac{3}{2}} \right]'_0 = 1 + \left[\frac{2u\sqrt{u}}{3} \right]'_0 =$$

$$= 1 + \frac{2}{3} = \frac{5}{3} \quad \text{T.p.}$$